
Ⅰ次の英文を読んで、設問に答えなさい。（＊のついた語には問題文の後に注があります。） 

 “The great divide,” The Guardian Weekly, July 17, 2020（一部改変） 

 

 

dip＝下落  absorb＝耐える、負担する  parental＝親に対する  leave＝休暇  end up～＝最

終的に～になる  maternity leave＝産休  outdated＝時代遅れの  line～with―=～に―を詰め

込む  reside＝住む  penalise＝不利な立場に追いやる  stigmatise＝非難する  opt out of～

＝～をやめる  epic proportion＝並外れた規模  mushroom＝急速に広がる  depress＝下げる  

livelihood＝暮らし、生計  supplement＝補う 

 

1）下線部①which が指す内容として最も適切なものを 1 つ選びなさい。 

1． you account for both salary history and reduced working hours 

2． both salary history and reduced working hours 

3． British mothers have absorbed a net 40% drop in pay 

4． what happens in the US 

 

2）下線部②の書き換えとして最も適切なものを 1つ選びなさい。 

1． about 21% in Denmark and 26% in Sweden 

2． about 21% in Sweden and 26% in Denmark 

3． about 21% in Germany and 26% in Austria 

4． about 21% in Austria and 26% in Germany 

 

3）以下の文中で下線をほどこした語のうち、下線部③by と同じ意味で用いられているものを 1つ選び

なさい。 

1． The carpet is three yards by three and a half. 

2． The man is taller than I by a head. 

3． The snow fell flake by flake. 

4． They are paid by the day. 

 

4）下線部④a pass の言い換えとして最も適切なものを 1 つ選びなさい。 

1． a break 

2． a passion 

3． a permission 

4． a trace 

 

5）第 3 段落で述べられている富裕国の女性の状況の記述として、最も適切なものを 1つ選びなさい。 

 1．給料が高いので、若い夫婦のいずれか一方の収入で生活できる。 



  2．母親が働く必要はないため、職場ではあまり歓迎されない。 

3．自由になる時間を確保するため、パート勤めを望む母親もいる。 

 4．パート勤めの母親の大半は、フルタイムで働くことを望んでいる。 

 

6）下線部⑤の意味として最も適切なものを 1 つ選びなさい。 

1． 今後数十年間にわたる高齢化の影響をすべての人が受けるわけではない。 

2． 今後数十年間にわたる高齢化の影響を受けるのは、特定の人だけではない。 

3． 今後数十年間にわたる高齢化の影響を受けるのは、もっぱら女性だ。 

4． 今後数十年間にわたる高齢化の影響を受ける人は、ほとんどいない。 

 

7）最後の段落で述べられている今後の状況の記述として、最も適切なものを 1つ選びなさい。 

1． 高齢者の介護よりも子どもたちの養育に、より多くの費用や時間が必要になるだろう。 

2． 子どもの養育に加えて、夫婦は各自両親の介護をすることになるだろう。 

3． 多くの女性が仕事を辞めざるを得なくなり、経済成長や税収などに影響が出るだろう。 

4． 多くの場合、母親が収入を維持する責任を負い、親や子どもを養うことになるだろう。 

  

 

II 次の英文を読んで、設問に答えなさい。（＊のついた語には問題文の後に注があります。） 

“Got milk? More Chinese do amid pandemic,” The Japan Times on Sunday, July 26, 2020 

（一部改変） 

bun=菓子パン  congee=粥  protein＝タンパク質  immune=免疫の  infectious=伝染病の  

outspoken=はっきりと物を言う  National People’s Congress=全国人民代表大会  strategy=計画  

trigger=引き金を引く  irreplaceable=かけがえのない  nutrition=栄養物  repercussion=影響  

curb=抑制する  per capita=1 人あたりの  livestock=家畜  methane=メタン  counteract=

妨害する  catastrophic=壊滅的な 

 

8）下線部①fueled の言い換えとして最も適切なものを 1 つ選びなさい。 

1. accelerated  

2. delayed 

3. improved 

4. stopped 

 

9）下線部②it が指す内容として最も適切なものを 1つ選びなさい。 

1. National People’s Congress 

2. 300 grams of milk a day 

3. to drink at least 300 grams of milk a day 

4. to encourage every person to drink at least 300 grams of milk a day 



 

10）牛乳摂取をすすめる中国政府に対するソーシャルメディア上の議論（下線部③debates on social 

media）の内容として、最も適切なものを 1 つ選びなさい。 

1. 中国の酪農製品全般の低い栄養価の問題について 

2. 中国人の食事の植物性たんぱく質不足の問題について 

3. 牛乳の大量消費による食の安全の問題について 

4. 牛乳の大量消費による中国全土の森林破壊の問題について 

 

11）第 4、第 5 段落で二重下線をほどこした次の 4つの語のうち、アクセントのある部分の発音が他と

異なるものを 1つ選びなさい。 

1.  Australia 

2.  deforestation 

3.  population 

4.  dairy 

 

12）下線部④it has a lot of room to grow の意味として、最も適切なものを 1 つ選びなさい。 

1. アメリカの牛乳の消費量は、今後さらに伸びる可能性がある。 

2. アメリカの牛乳の生産量は、今後さらに伸びる可能性がある。 

3. 中国の牛乳の消費量は、今後さらに伸びる可能性がある。 

4. 中国の牛乳の生産量は、今後さらに伸びる可能性がある。 

13）第 5 段落で点線をほどこした次の 4 つの語（句）のうち、文中での意味が他と異なるものを 1 つ選

びなさい。 

1. Annual per capita consumption 

2. 34 liters 

3. that 

4. 100 liters 

 

14）第 6 段落以降で述べられている中国に関する記述として、最も適切なものを 1 つ選びなさい。 

1. 中国政府は、中国の牛乳消費量が 2025 年までに 1980 年代の 30 倍になると予測し、今後は国内

外の農場で牛の飼育を行う見込みだ。 

2. 2010 年までのわずか 3 年間で、中国国内の家畜の飼料になるトウモロコシの量は 6 倍に、家畜

による大豆の消費量は 9 倍になった。 

3. 中国はブラジルが生産する大豆の約 4 分の 3 を購入しており、この大量購入が森林破壊の進行

の原因であると指摘されている。 

4. 中国政府と国民による酪農業促進の取り組みは、温室効果ガスの削減を目指す他国の取り組みを

妨げるものであり、その影響は大きい。 

 



 

III 語句を並べ替えて空所を補い、文を完成させ、（     ）に入るものの番号を答えなさい。 

 

15)  If higher education was free, there would                       (        )           

                to go to university. 

   1. be          2. chance          3. for          4. more          5. people 

 

16)  It is a                       (        )                       and floor of the meeting 

place. 

   1. confirm          2. good          3. idea          4. the time          5. to 

 

17)  Many Japanese students                       (        )                       

     in class. 

   1. don’t          2. out          3. stand          4. to          5. want 

 

18)  His attitude                       (        )                       this situation. 

   1. be          2. in          3. seems          4. strange          5. to 

 

19)  She visited                       (        )                      way back to Tokyo. 

   1. him          2. her          3. hospital          4. in          5. on 

 

20)  Rescue of                       (        )                      immediately. 

   1. be          2. done          3. injured          4. must          5. the 

 

21)  We had                       (        )                       murder case. 

   1. do          2. nothing          3. the          4. to          5. with  

 

 

 

IV （          ）に入れるのに最も適切なものを 1つ選びなさい。 

 

22) When he moved into the apartment, he didn’t realize how bad (          ). 

   1. it was        2. it was the apartment       3. was it       4. was the apartment 

 

23) This song is loved by a vast (          ) of young people. 

   1. amount            2. figure            3. majority            4. member 

 



24) We must go through the security check before (          ) the plane. 

   1. boarding          2. boarding in          3. boarding on         4. boarding out  

 

25) I didn’t make this decision lightly.  I have been thinking about it (         ) a long time. 

   1. after            2. for            3. in            4. within 

 

26) Out of concern for the environment, more people recycle (          ). 

   1. an old furniture            2. old furnitures            3. pieces of old furniture  

4. pieces of old furnitures 

 

27) Our boss gave us the (          ) for a new project. 

   1. explain          2. explanation          3. explanatories         4. explanatory 

 

28) A reasonable flight to Korea was (          ) in the newspaper. 

   1. advertise          2. advertised         3. advertisement         4. advertising 

 

29) The cost of living in big cities (          ) increased significantly in the past twenty years. 

1. are            2. has            3. have            4. is 

 

30) The lawyer said she would call the office (          ) Monday. 

   1. by            2. through            3. till            4. until 

 

31) Let’s go (          ) in Canada next year. 

   1. playing ski            2. ski            3. skiing            4. to skiing  

 

32) I don’t think she has the (          ) to manage the project. 

   1. qualifications           2. qualify           3. quantities           4. quantity 

 

 

33) We don’t recommend (          ) to Japan in the hottest season. 

   1. for you travel         2. to travel          3. traveling          4. you for travel 

 

34) When you are (          ) on the beach, you should put sunscreen on to avoid sunburn. 

   1. laid          2. laying          3. lied          4. lying 

 

35) Without my gym teacher’s support, I (          ) successfully lost weight. 

   1. cannot         2.  couldn’t         3. couldn’t had        4. couldn’t have 



 

36) There’s (          ) like a cold glass of lemonade on a hot summer day. 

   1. anything           2. everything           3. nothing           4. something 

 

37) I’d like to attend the reception, (          ) I have another appointment. 

   1. and            2. but            3. so            4. which 

 

 

【設問終わり】



 

 


